8.

A solution to the equation
X +20-5=0
lies between 1 and 2.

Use the method of trial and improvement to find this solution correct to 1 decimal place.
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6. A solution to the equation
x=Tx-75=0
lies between 4 and 5.

Use the method of trial and improvement to find this solution correct to 1 decimal place.



Rob Davies
Note
From Paper 2 2004


5.

A solution to the equation
x*+6x-60=0
lies between 3 and 4.

Use the method of trial and improvement to find this solution correct to one decimal place.
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3. A solution to the equation
x’+5x-30=0
lies between 2 and 3.

Use the method of trial and improvement to find this solution correct to one decimal place.
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8. A solution to the equation
x—-6x-3=0
lies between 2-6 and 2-7.

Use the method of trial and improvement to ﬁn@ solution correct to 2 decimal places.
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